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Part: A

1: Given:

11. public static void main( String[] args ) {
12.  Integer a = new Integer(10);

13.  Integer b = new Integer(10);

14.  Integer c = a;

15. intd=10;

16.  double e = 10.0;
17.}

Which three evaluate to true? (Choose three.)
A.(a==¢)

B.(d==¢)

C.(b==4d)

D.(a==b)

E.(b==¢)

F.(d ==10.0)

Correct Answers: AB F

2: Click the Exhibit button.
What is the output?

1. public class Test |

2. public static wvoid stringReplace (3tring
text)
3. Lext = text.replace(']j', 'c'l;
4 }
L5
G, public static woid
bufferReplace (3tringBEuffer text) |
T Lext = Lext.append("c™);
g, }
9.,
10. public static void wain(3tring args[])
i
11. String textitring = new
String("Tjawva™) ;
12. SJtringBuffer textBuffer = new
StringBuffer ("java™) ;
15.
14 stringReplace (text3tring) ;
15. bufferReplace (textBuffer) :
16.
Bl SJystem.out,.println(text3tring +
textBuffer) ;
15. ¥
19. }
Answer:
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3: Click the Exhibit button.
‘What is the result?
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public class Test |

public z2tatic wvoid adds (Integer 1) |
int wval = i.intValue():
wval += 3;
i = new Integer(val):;

public z2tatic void main(2tring arga[] )

Integer i = new Integeri(0):
add3 (i)
System.out.printlnl(i.intValue() )

C.Compilation fails.

D.An exception is thrown at runtime.

Correct Answers: A

4: Click the Exhibit button.
‘What is the result?

(e R B R B CORUTR Y LS

10,
11.
iui
13,
14,
15 .
16
175
i
ig.
19,
20, }

Ax=0
Bx=1
Cx=2
Dx=3
Ex=4

clas=s A 4

int =;

boolean checki) {
HA+
return true;

¥

void zzz ()
%= =0;
1f ({check{) | check{)) || check{)) {
E++
1

Sy=temn.out . printlni'=z =

¥

public =tatic woid main(String[] arg=s)

ke 3

(new AC)) =2=2=(7:

F.Compilation fails.

Correct Answers: D



5: Given:

21.inti=1;

22.1nt j = i++;

23 if (G ==++)) | (++==))) {
24, i+=];

25.}

26. System.out.println("i = " + 1);
What is the result?

Ai=1

Bi=2

Ci=3

Di=4

Ei=5

F.Compilation fails.

Correct Answers: E



